Partial Key to Kohler Curve Assignment
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This key is intended to help a professor who wishes to use this assignment check the correctness of their own solution.  This file only helps for the excel spreadsheet and charts, not the answers to the conceptual questions.
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The image shows the upper portion of the Excel spreadsheet for 3 different solute masses.  The curvature term is separate from the solute terms.  This also helps if you plan on getting the students to plot just the solute and curvature terms separately.





The bottom of the spreadsheet above is shown here.  I created separate spreadsheets for changing solute mass, changing temperature, and the three separate graphs to be handed in with the assignment.





Graph for a single Kohler curve (ms = 10-16 g)





Graph for a family of Kohler curves of different solute mass.





Graph for a family of Kohler curves with different temperatures








